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B.2 EXCELOOOOOOODODO . . . vt e e e e e e e e e e e e e e e e 39

B.3 tara. . . . . . e e e
B.4  CSVOUOODO . . .t e e e e e e e e e s e s s s s s s s,

1 300000b0b0-000b00Od

00000000000000 (AR)DD000000000000oo00000oooog
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%DDDDDDX
000000000Oo Xgooooooooooooooooooooooooooooo

gooooboogoo

11 DoOOooooo

111 00OO0bOODbOoo
O0000000000000000000 X1 XX3---Xp,.YOOOOOOOOOOOOOO
good

e 00 ExampleD DD OODODOOODOOOOOOOOOOO (ijs)00000nd

DN11

5.6 30

- 00000000000 Stich,.) 0000000 5.8 26
0000000 (00000 6 33
6.2 31

EX0=: 123,456 ,:789 6 4 33
—ijs000D000D000000=:000000000 6.4 35
oooo 6.4 37
6.6 36

6.8 33

*1

e J00ODDDOEXCELODDDOOOOD CSVX2000000000O0000

EXCELO CSVOOOOOOOD00 APPENDIXOOOOOO
(0O0) (GDbP) @OOO) (DOOO) (0OOO)

94 473 272 65 131
95 484 278 67 138

l_0oO00000000000 (equal)
*2 Camma Separared ValledD D000 000000000000000000000000000

2



96 502 286 74 142
97 504 283 79 137
98 500 285 75 134
99 503 285 75 137
0 515 287 81 141
1 509 289 78 137
2 514 291 76 139
3 524 293 82 137
4 534 296 86 137

*3

(OO0)D -00 -0000000000000 20 OO0 2006

O00o0o0oOoocsvoououooooooo
*4

require ’files csv plot’
] DN10=. ".@> readcsv ’'/data/excel/stat_j/csv/ban_1l.csv’

00000 /data/excel/stat_j/csv/00000000O00O0O

112 0OO0OOOODODO
gbbggbogobuoobbuobboobooobuooobuoobbooboooboon
goobooboobobooboboooboobobo

00000 00000
EXCELO CSVOOOOODO000O00O0DO000000000000000000000
000000000000000
e 00DDD0D0O0D0O0O0 =" (L:0) DN10
e 0000000000000 ONONONONOO =;("1)(000 ;("2)

e D000 =0".0

0oo
e J01000000000000000
e 000D020000000000000000000000000000

00000000 (JOO000 JOO0O0O0O000000,000000
00000000000000000000 (")0000o0

L 0oooooooono numericrecipedata.ijs0 0 00 0000000000000 00O00ODO0OOOOOOOOO
goooooooooooobooboooboooboooobooooo
*4CSVCammaSeparatedVaIlIE!]DDDDDD (DDODO0O)DODOOEXCELO DBOO CcsvoOoOoooooO

3



Take {
Take first {. 0{"1 DN11

Talelast {: {:"1DN11
Drop first }. }."1 DN11
Droplast }: }:”1 DN11

00000000 (MDD JODDOO0OO0O0DO0O0D0O000DO00On0DOD0OO0O0DOO0DOOO
0000000000000 0000 00000000000000000000000
ooooo®

function name Usage
ooooO puc pickup column
rec remove column
pucset pickup with set
10000 pucl pickup column
recl remove column
pucsetl pickup with set

puc=:pick_column=: [ {"1 ]
pucl=:pick_column=: (:@[) {"1 ]
rec=:remove_column=: 4 : "(I.-.(i.{:@$ y ) e. x ) pucy’

NB. remove_raw

rer=: remove_raw=: 4 :

"T.-.G. #y)e.x){y"’

000 Example

] a=. ?.

6
2
20
13
2
19
8

3 7 8
23 0 25
26 18 14

6 3 0

426 6
16 8 16
11 5 27

74% 28

SOpO00000000000000000000,1,230000 000000 01,23.0000100000 00

oooooo ooooo
2 3 puc a 1 2 rec a

7 8 6 8

0 25 2 25

18 14 20 14

3 0 13

26 6 2

8 16 19 16

5 27 8 27

00000 o0bO00O000000000100000000000000O000D0OO




y
gogooo O XOyOd2000000000 2000000000000
1, Xo, . X1, .X2, . Xp y

(D00 l10000o0oOooooon)

e y%. 1, XOOOODODOOD
e 1,.X,.y0yOlloooooooobobobbboooooogoobobobobbboooooooo
gooogn

ooooooooobobobobobobbobobobooboodooooooooo

reg_ols=: %. 1&,.@]

0000000000y, 00000 XOD0OO0OJOOoOoDoO xoooooyooooooooo
ooooooo

typel OOOOO
e yis0O ,xis10O
(® puc a) reg_ols 1 puc a
5.72402 0.336313
f =5.72402+ 0.33631%
e yis0O ,xis1230 (CODO)
(® puc a) reg_ols 0O rec a
8.92071 0.597347 _0.065022 _0.429712
y = 892071+ 0.59734%, — 0.06502%; — 0.42971%,
type2 ODOO0OO

e yisOUOO xO isO 30
(0;3) puc_set a

Xy
3 0 puc a
P 8 6
X

y 25 2

8 6
14 20

25 2
0 13

14 20
6 2

0 13
16 19

6 2
27 8

16 19

regx (0;3) puc_set a
27 8

11.1634 _0.0848279

y =111634- 0.084827%
e yisOOO xO is130

(0; 1 3) puc_set a
x0 x1y



3 8 6
23 25 2
26 14 20

6 0 13

4 6 2
16 16 19
11 27 8

regx (0;1 3) puc_set a

8.05491 0.588484 _0.403745
f = 8.05491+ 0.588484, — 0.403745

113 000
*6

00000000000 0o0C00OU00U0O0DEPYIEMFOODOOOOOOOOOODODO
0000 Joooooooooooooooooooooog

sin

W[ T ]
08— _
06— _
04l _

02— -

02— -

04— —

06— -

08— -

"title sin’ plot _5 5 ;’1&o.’ NB. sin from _5 to 5
pd ’eps /temp/sin®.eps’ NB. save by eps

S55plot0 00
(tempOoOooonQ)

m J Grammar

% )0000000000000000000000000000000



ooo “".format-O00O0 OO0OO0O": ".e000000

0000000 >openBoxdOO <O BoxO

require OO0DOODOODODOODOODOODOODOO

readcsv csvO O OOOOOO0O OO0 requirefilescsvOOOO0O
plot OOO0OOO0O

pd plotdriver0 000000000

eps UOOOOOOOOOOOOOOOO



12 300000000O0000O0OOO0

1.2.1 Matrix divide
0000000000000 UdU0 (AR ODODO0O0U0U0UU0O0ODOoOoUOUOU0O 3000ougu
doooooooooon
00000000 %. 000000000000matrix—DivideO OO K.E.lversonO OO OO

gboboobooooooa
*7

goog,udgd
Ordinaly Least| regx=: 3 : "({:"1y ) %. 1,.}:"1y"’
Square
oLS
googn
Polynomial polyl=:4 :

y %. C:i. #y )7 /i, > x ]

oooo
Auto Regression ar0=:4 : "(x }.tmp) %.|.(C"1D}: >x <\ tmp=:y -(+/%#H)y ’
AR

122 oLsOOO0O0O

ooooao ooooog
[y | 1 xu [y, | 1 X1 X1 0 Xa

Y2 1 X2 Yo 1 X X2 -0 Xe
y=|ys| . |1 X y=1lys| . |1 X3 X3 -+ Xa
L Yn ] |1 Xin] | Vn | 1 Xin Xon o Xkn)

gbooboobogoboobobuoobbooboboobuoooboooboboobo

X'X)B=Xy

“APLOOOOC 0 O0000O0O0O0OOOOO0O0O0000O0/.0000000000

8



B= XXXy
0fdoogooooooooooooa

’

, , X
X' X)Xy = =
X' X)Xy X

<

x
X<

gooboobooobooboboobboobbooobuoooboobboobboooboon
gbooboobogoboobboobbooobooboboobbooboooboon
gboogoobogbog

P
>

O0XOOO01oooooo

m Working Example OO0O00OOCOO0OO0OOO

DN11

XOoOooooood cm
YODOOO (% ooooo

000000 oo oooboooooooboooom

0000000 DNlI1lOOOOOUO0UoooOUUoLUUooOUoUooOodDoUUoLooooouoooo
0000000000000 000U00L0 LU U000 LU 00U LO LU0 OO LUO K.E.Iverson
0 matrix—divide(%.) DO QOO0



123 00000

Y
oooo X.YO0oO0oO | Xooooooao 1d -%-—>1—32
ooooooog good ooad %ﬁ dooooooooood
DN11 1,.0 puc DN11
y %. 1,.X
X Y 15.6
——————— 15.8 (1 puc DN11) %. 1,. O puc DN11
5.6 30 1 6
5.8 26 16.2 _5.01128 6.03383
6 33 1 6.4
reg® DN11
6.2 31 1 6.4
_5.01128 6.03383
6.4 33 16.4
6.4 35 16.6 y = -5.01128+ 6.0338%
6.4 37 16.8
6.6 36
6.8 33

m Script reg0

reg®=:3 : @
NB. select trend d ata or multi data
if. 1=+/ * $y do. reg_ty
elseif. do. regx y end.

)

reg_t=:3 : y %. 1,. > 1i. #y°
regx=:3 : '({:"ly ) %. 1,.}:"1y"’

124 00O0O0OOOODODO

8 gpon XOOODYOOOOOOODODOOOOOOOreg_tO0OOOOOregO0O DN11O DO ODODODDOOOODO
OdOregxDO0OOO0O0OODODODO

10



gbooooobogoo
000000000oonoO Xooo 1ooooooooooooooooooooooo

’

X)Xy = oY =

’

<

Y
X

X
X

%. 00000
({:"1 DN11) %. {."1 DN11
5.23401
(1 puc DN11) %. O puc DN11

5.23401

y = 5.2340K

01 JO00ooooooooo

125 00O
0000000000000 regexamadD re@0 0000000000

reg_exam_ad 0000000000 ODOODOODOOOOOOOOOOOOOO
*9

reg® reg_exam_ad DN11
+-————- o +

| £= |_5.01128 6.03383]

00 (@O0)0D00000000JO0000000

11



o e ittt +

|corr=:|47.8237 | oDOO0O

et Fomm e +

|AIC: |18.8684 | AICODOOO0ODO
+-————- Fom - +

| DW= [2.17534 |00000/000000
it Fomm e +

| t= |_0.33633 2.53299|0 t O

+-—-——- Fom - +

126 0O0OOOOOOOOOO
000000000000 linefitregOOOOOOO
gboboobogoboobboobboobboobuoonoobaon

linefit_reg® DN11
pd ’eps /temp/reg_0.eps’ NB. Save

02 0000oOooOooooo

127 JOOOOO
ub ooboooboobboobboobbooboooboooboobgot
00000 i.00000000i3—-01203001:3—->_3_2_10123
1000 »>:1000.0<:10000

0000 %.matrixdivideOOOODOOODODOODOOODOODOOOOO
gboog O=0000bbgoboobboobboobbooobg
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13 0DO0DOoon

O0yOtoOoOoO koODOOOOOOOO
y=Coo+C01t+-~-+Coktk+€
gddbdooooododouobonooooooodououoooooooooooao

So S1 - Sk Gl [T1
Si1 S -+ Sk ci| [T
Sz Ss Skl || |Ts
Sk Ski1 - Sok Ck Tk

0000000000000 000000000000000000000000000000
0000000000000 00O00OO0O0O0Ooio

m Example 0000 20000000000000000000
y = 4.89554+ 1.13288 — 0.141456¢ + 0.0043888%3

3 poly® DN12
4.89554 1.13288 _0.141456 0.00438882

03 0000000000 (@)0000 (0)40

4 linefit_poly® DN12

“0gppoooooDO00000O00000DO0DO0O0DOng

14



000000 OOOO0O00O0OD0DODOODOOOOO0000D0100000000000000

3 poly® 107. 20
_11.2 17.6678 _3.75583 0.227855

fx=-112+ 176678 — 3.75583¢ + 0.227855¢

X,.a=10 7. 20 XOd 01230
20000 100000 ooooooooooloooog
XOODOoDOooOoooOOoO |00ooooooooo 3o00o4ao
010000 001230000000 (1000
oii. # 2) oooooo

,.a (i, #a)°/ 1. > 3

1 6 1 1 1 1

2 1 2 4 8

319 1 3 9 27

4 15 1 4 16 64

5 10 1 5 25 125

6 14 1 6 36 216

7 0 1 7 49 343

8 1 8 64 512

9 12 1 9 81 729

10 17 1 10 100 1000

15



000000000 0000000000 AICOODO0OAICOODO0OODODOOO kKOO
good
AICOO0O0OO0ODO 30000

131 JOoOOoOOo

ooo -

oo 2,?2000000000000000CC00
000000 #n00000s00000O0DDODOODO

14 0DOOOOOO AR

141 AROOO
0000000 (AR -Auto Regressive Mode D0 0000000000000 OO0OOOO
gbobooobogobuoobbooboooboobbuoobboooo

MOOOO AROOOOOOOOODOODODODOOOOOOODODODODOOOOOOO
gbobooboooboobboobboobboon

Autoregressive Model

Sii Sz -+ S by T,
Si2 S22 -+ Sk by T,
S13 Szz -+ Ss by | =| T3
Sik Sk v+ Sk b T

0000000000000 Yull-WalkerO O BurkDO O Householded OO DO OO0 ODOO
0000000000000 UUgU g

*11

O000000000000000000 (DN12)DoOoo 3 0000000000000 00
good

Al30pN0000000000000000000000BuwkIODOOODOOYull-WalkerDO0OOOOO
householdefl 0D ODOOO0OOOOOOOOODO

16



1. X1, %2, X3, -, %n00000000000000 (X)OOOO
2.000000000 ()00000000000000000000000000000
oono

3.)—{DDDDDD XOOOoOoooooooooooooooboobooooooooodo

O 0O 0O Oj30000
NRYy Y, %-0, Xt—1, Xt—2, X3

(3}.DN12),.3}:]."1 >3<\DN12 | inifix(\) DOOOOOO XOO

1 3.4 000000000 O0oo0o0od
2 5.5 infi
Y | X1 Xe» s 000 Box<) O infix(\) DOO
3 7.7 34 0 0 0 |cut |Oper>)0000
4 10.2 5534 O O jcut |y x,%s00000000
5 8.5 77155 34 O Jcut | o500 Rotatel™) 000D
: 102 | 7.7 55 34 otate|."1)
6 7.6 85 | 102 77 55 YOOOOOoOOoooooooo
7 10.1 76 | 85 102 77 000000000000000
8 115 101| 76 85 102 Q30000000
' 115|101 76 85
9 6.9 69 | 115 101 76 000 10000000000
10 2 2 | 69 115 101 00000000mMmO0oo0oon
""" 107|102 88 72 | 7153\ >:i.5
25 10.7 108[107 102 88 [cut |, , .
26 10.8
432
54 3

gobooobogooboooog
oooopDoooboO0 w.H)4ooOo
googn

17



142 ACOO00O0000

Ml = -~ X(logQu/(n - K)

AIC=-2xMLL+2xk=(n-K) x (logQ/(n—K)) +2xk

AROODODOOD AICO0O0OO0OO0OO0ODODOO kOODODODODOOOO

4 exam_ar® DN12
o e o +
|[mean=6.904 | corr=0.546834|AIC=41.4362|

e e T e ittt +

3 exam_ar® DN12
Fomm - Fomm e e ittt +
|mean=6.904 | corr=0.536786|AIC=41.5126|
fomm - oo mmm - e +
5 exam_ar® DN12
Fo—m - Fom - Fommm e +
|mean=6.904 | corr=0.56474|AIC=41.7886|

fomm - Fommmmmm o Fomm - +

4 ar® DN12
0.973496 _0.548562 0.232687 0.0641936

40000000
0.97349@&, — 0.548562, + 0.23268T;3 + 0.0641936;4

4 linefit_ar DN12
pd ’eps \temp\ar_0.eps’

18



15 0O0dd

000 -000 | reg
reg.examad reg0 regexamad n
estimreg0 estimregO n
linefit_reg0 linefit_reg0 n
ooood poly0o
poly_exam 4 poly_exam n
linefit_polyO 4 linefit_polyO n
oooo ar0 mar0n
examar0 m examarO n

19




2 0Jo0ooooooood

ooobooboooboobboobbooboooboobboooboooboobooboo
goboooooooobbbobobboobooooooobobbooooooooooooo

oooooo
21 00O0OOO
211 00O

gbobooboooboooboboobboobobooog

Ja=: >: i.10
12345678910

od 00 Script Example

}in am=: +/ % # am a
Dooo n & 5.5

am2=: # %~ +/

gma

"I X gm=: # %: */ 4.52873
oooooooooo*/
00o0000000oOooOoo
goooooooooon
gooooao

googd

goooogoogoggogd
1 hm=: am &.(%"_) ooooooo

0ooo n,<

=X hma

3.41417

20




goog
U

common X
mean n

cm=:[: {.(Cam,gm)":_

goboogooboobooo
cma
5.00257

gooooooo

R

212 O000OO0O-00000O0O0O0O

000 kmOOOOOOO
000 kmOOOO0O km
oooo0oo0oo00 kmOOO
00 kmOOOOOOOO
kmOOO kmOOOQOO
ooooobooooo

hm 30 40 60
40

3% +/ 1r30 1r40 1r60
40

22 0J0O0OOOOO

221 O000O0OOOODOODOODOOOO

goboobogooog

Yiya_
()" - 1% 100

222 000O0O0OOODDOO
qtr_grow 1 1.02 NB. 1 1.02

8.24322

0000 1000 102000000000 82%

2.2.3 Script
qtr_grow=: 3 :
NB. e.g. ul 1.02

NB. exchange rate of growth from quarter to year

e 00000

'100 * <

&4 %/1. Yy’

21




000000 00000000 (rotatel.)000O0O0O

%/1. 1 1.02
1.02

4000 "4
1000 (<:01000)

<: "&4 %/|. 1 1.02
0.0824322

100000 (xtimeg

100 * <: "&4 %/]. 1 1.02
8.24322

224 00000000000

goooobooboboobbooobooboobon
000 %0000000

oooooo
n (2 1% 100
X
m Script

grow_ave=: 4 : 100 * <: (x %: %/ |. y)’

mJgpoog

e NOUODOOODODOODLDDOO

%/ |. 504827 539160 NB. GDP 1995/2000
1.06801

e 50000OO
5%: %/ |. 504827 539160 NB. GDP 1995/2000
1.01325

22



e 100000

100* 5 %: %/ |. 504827 539160 NB. GDP 1995/2000
101.325

m Working Example

5 grow_ave 504827 539160 NB. GDP 1995/2000
1.32463 0000 1.32%0

10 grow_ave 469567 539160 NB. GDP 1990/2000
1.39161 0000 (1.39%)

225 0000O-00D0O00OO

gbobooboooboobboobbooboboobuoooboobbooboooboon

DN20
1.25 1.4 1.07143 1.06667 1.125

gm DN20
1.17608

m Working Example 000000000 OO0O0O

year 01 02 03 04 05
% 42 125 63 73 134

DN21
1.042 1.125 1.063 1.073 1.134

gm DN21
1.08681 [0 NB. 8.67% per year

mJOOogoog o

23



i OooDoOoOOoOOoOoOoOooooooo

> 10004ad

X 0on
% + ooo

square 20
%: square—root oooooonOoOd
{. From oodooo o ooogood
_ infinity oo0
- child ogoooooooad
"1 Rank 000000000ooDoOoD l000o0ooooon
~ power oooood
&. under ooo
y oo
. Rotate doodooobooooobooooooooo
/ Insert 0000 (@oOo)oooooooooo
<: Decriment 1000
& god oodoooooooo(o)ooo
1

r oo 1r3D§

24



23 U0O0OOOOOO

goboobooooooon

200000 1000000 0=

Yoo
0000000000000 0000000 UL oUUOooo 30
pgooooooooooboooooUUooOoo o g

ooooobogoo

- 2. Ptdo
Laspiress
P 2. PoCo
Parshe 2 P
000 2. PoG
Fischer 2P 2 P
2. Po0o 2 Poo
O
DN22
AOO B[O

oooooooo
+o————- +-———- +
| 75 50|60 70| NB. OO0O
| 85 48|55 72| NB. O 10
| 95 46|52 75| NB. O 20
|105 44148 80| NB. O 30

it e +
oooooooooooboooo

DN22=:(75 85 95 105,. 50 48 46 44) ;60 55 52 48,. 70 72 75 80
O @oO00000ooo000000ooooo0ooooooooooooon)

1sp_chain® DN22

1 1.01887 1.05535 1.08302 NB. OO 0O 10 0O 20 O30

par_chain® DN22

25



1 1.01515 1.04025 1.04444

fis_chain® DN22
1 1.01701 1.04777 1.06356

m Working O Example 00000 100000000

DN23=:13 170 15 155,52 49 55 41,13 89 14 85,51 57 53 53,41 55 35 57,:45 33 48 31
DN23=: (’’;1 0 1 0 )<;.1 DN23

DN23
2000 O 0O 2005
gooooobood

[13 17015 155| NB. Cabbages
|52 49|55 41| NB. Spinachs
[13 89|14 85| NB. Napa
|51 57|53 53| NB. Leek
|41 55|35 57| NB. Lettuce
|45 33|48 31| NB. Broccoli

0000000 200 20 140

l1sp DN23
Las: Par: Fis:
103.654 103.209 103.431

200500 0000000000000 O0000000ODOO0O0O0OO0O000OoOoOoOon

2.3.1 Script

lsp=: 3 : 0

NB. Calc Laspi Parshe Fischer

PO Q0 P1 Q1’=: {;("2),. |: L:0O y

las=.(+/ P1 * Q@)% +/ PO * QO

par=.(+/P1 * Q)% +/ P® * Q1

fis=.%:(las * par)

’ Las: Par: Fis:’,: 9j3 ":100 *(las, par ,fis )

26



m Laspeyres Etinne Laspeyrg4834-1913)
Lass-pey-resS 0 0000000000000 OOOOOOOOOOODOODOODOODOOO
0000000000000 0O00000O000000b00000nD 2600000000000
000000000 187100000 0O M Wikipedia O O

n { take oobooboboobooooboo
mJOO000Og "Las’ character goooobogbobooobooon
1235 ": format 000000000 (120000 50)

24 000O0O0O0OO

gdoobooboo0oboobobooboboobboobooobooboboobbooboon
googn

goog . X gboobooboooobooo

1— googd
\IHZ(X—)_()Z

xO0OOOOoooO cm
yooooo (ooo DN24 stand DN24
0oQg 5.6 30 _1.7781 _0.843274
5.8 26 _1.22628 _2.10819
6 33 _0.674453 0.105409
6.2 31 _0.122628 _0.527046
6.4 33 0.429198 0.105409
6.4 35 0.429198 0.737865
6.4 37 0.429198 1.37032
6.6 36 0.981023  1.05409
6.8 33 1.53285 0.105409

27



ddooooooooooooooooobobobobobobbbbobbbbboooooogogo
goboobogooooooboooo
gboobooooboobooboboobobobobobom

"key fruits water’plot |: stand DN24
pd ’eps \temp\kanaya_02.eps’

04 00000 (@O)oooooo

2.4.1 Script
stand=: dev % "1 sd

dev=: -"1(+/ % #)
sd=. %:@var
var=: # %~ ([:+/[: *: dev)
mJOO000a0
: square 20 ("2000)
%: squareroot 200 (V)
=" 1(+/%#) X—X 0o
[: Cap gootoooboooooooooboood

28



242 00000

ooooo - (+/%#) 000000000000000000

X—X 000000000000000000
000000000000(@O0O0O
ooo)

25 0000000

goobgoobooobooboboobboobooobuoooboobboobboooboon
gobobobooooogobobobbodooooooboobbbooooobbobbbooo oo ebbO
O00000000O0lognO InOOO0OO0OO0O0JOO0OOO . 0000000000000 O0O0O
gooooboobboobboooboobobo

~.100
" 4.60517
" 4.60517
100
0ooo
& = x 1x1 ~. DN24
logx =y 2.71828 1.72277 3.4012
10 110 ennny | 175786 3.2581
Ctooooooo 1.79176 3.49651
1.82455 3.43399
1.8563 3.49651
1.8563 3.55535
1.8563 3.61092
1.88707 3.58352
1.91692 3.49651

29



~

naturellog 0OOO0O -00000 10 *. 100 is 2
mJOOQO0OO - e’ " 4.60517 is 100
1x1 e ed00O0O0D0OCOOO0O 2x1 1x2

26 0O0O0OO

I Xll= VX X>= ¥+ ++X 000000000 (00)0000
000200000 100000000000000000 (Eudid)000000000000

goog

norm=: [: %: [: +/

26.1 OO
The length(or norm)o¥ is the nonnegative scalfw ||
I Xll= WV = \/x§+x§+...+xﬁ

IvIP=v-v

I x=yll= VO —y1)2+ (X2 —¥2)?--- (%, —¥n)?000 PQOODOODOO0ODO
Example

1

v=1-220|v|= /(120 - 220 220 0)= Vou = i
euc_norm 1 _2 2 0

0.333333 _0.666667 0.666667 0

2.6.2 Script
norm=: [: %: [: +/ *:

euc_norm=: 3 : ’ y. % norm y.’

m Coffee Brake O0O0OOO0ODO

dodooooooobobobobobobobbbobobbtodddddooooooooL b
0000000 John Napiefl550-1617) 00000 0000000COOOOOOO 161400
Jo0odoooooooooooooooboooooooooooo b ooooooooboboboooo
dddeddooobobbobObObbbbb0b0dddoooooooooDoDbDboboboboooo
gogoooooon
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27 00O0OOOOOOOO
gbooooboobooboobboobooboboobboobooboboooo
271 O00O0O0ODOO

gboboobboooboobobooboboobobooboooboo
gooboobooobooboboooboobg

O
ooog
ooood 13 ss=: [: +/ (*:@dev)
0o x=-2 %
=t mean=: +/ % # NB. am
dev=: - mean
D (=%
oag var=:ssk%#
Variance 3 (X - X)?2
n
ooood sd=: %:&(ssk#)
Standard "
deviation \/M
n
oooo q vr=: sd % mean
S
X
oggd oo0oooooo
Oo0ooo cov=: # %" ([: +/ [: */"1 dev)
dev=: -"1(+/ % #)
1
NZ(X_)_()(y_y) cov=:# %" ([: +/ [:*/ "1 (-"1(+/ % #)))
(oooo)
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272 000000O0O0OOOOO
gbooboobogobooboboobboooboobobuoobbooboooboon

V(Xg + Xo + -+ Xp) = iV(Xi +ZZC0V(Xi,Xj)
i-1

i#]

SXX Sxy SXZ
V = Syx Syy Syz

Sax Szy Sz

Xy
x1 vyl
X2 y2
x3 y3
x4 y4
X1=X y1-Yy
C:tx_le(xl—i X — X xn—i] Xo—X Yo—Y
N N{y-y w-y Yn=Y J| X3=X y3-Yy
X =X Ya—Y

1( (X = X) (% = %) (Xn_)_()(yn_)_/))

1 (XDDD 000 )
Nl G =YX =X (= Y)n—Y)

goo good
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2.7.3 Worked Example

oo oooboooooo
b oogobboo

145
145
150
150
155
155
160
160
165
165

DN25

30
35
35
40
40
45
40
50
40
45

60
70
65
70
75
70
80
70
65
75

NB.

70
75
80
70
75
80
85
90
90
85

(1

gooogoo

dev2 DN25 NB. (2)

_10 _10 _10 _10

9 5 0 _5
S5 5 5 0
5 0 0 _10
® o0 5 _
® 5 0 ©
5 0 10
5 10 0 10
9 0 _5 10

10 5 5 5

33




goog nO000O0On=10

((l: dev2 DN25) +/ . *

(l: dev2 DN25) +/ . * (dev2 DN25)) % # DN25 NB. (4)
(dev2 DN25) NB. (3)
50 27.5 17.5 42.5

500 275 175 425 27.5 30 15 25
275 300 150 250 17.5 15 30 10
175 150 300 100 42.5 25 10 50

425 250 100 500

vartable DN25

50 27.5 17.5 42.5
27.5 30 15 25
17.5 15 30 10
42.5 25 10 50

2.7.4 Script
vartable=:# %~ |:@dev2 +/ .* dev2

+/ . % oo
| : Transpose OO -0000O0

mJO0000

28 U0O0OOOOOOO

oooboobooboboobboooboobobooboboooboo

1 ry Ix
R: ryX 1 ryz
rzx rzy 1
oy = (X y)
=Y
YTyl
CovX,Y)
XYoooOoOOd pxyy = —————
VWI(X) - VV(Y)

2.8.1 Working Example
cortable DN25
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1 0.710047 0.451848 0.85
0.710047 1 0.5 0.645497
0.451848 0.5 1 0.258199

0.85 0.645497 0.258199 1

2.8.2 Script

cortable=: 3 : 0

ss=. [: +/ [ *: dev2
sd=. %:&(ss%#)

stand=. dev2@] %"1 sd@]

cortable=. #@] %~ (]|:@stand@] +/ . * stand@])
cortable y
)
@ Atop O0000o0Ooooooooooon
mJOO0Q0Qag

-"1(+/%#) -"lishook 0000000 OODOOOOOOO
29 0O0O0OOO

oooo0o,bo0obboo0oboobobooboboo,bbooboobobooooboon
goooob,o0oboooboobboobboooboboooboobo
gooododoooo,oggooooooooood —ppooooado

i

Vririi

000 X0 X,000000000000000000000000000000000000
0000000000000 0000000000

DDDDR:%J

ROODODO R*DODO r
—rY

fijo = —F—
] 'Vrllr]]

DDDDR:F“RDDDDR*DDDDHmw:
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goog

googn

gooOo 50000000000
goog

DN26 O OO

O 00 00 oooo

198005 2854 17662
254020 5880 24208
290237 11995 30538
348839 19605 36568
452356 23490 48113

vl A W N

cortable DN26
1 0.967571 0.997407

pcor_table cortable DN26
1 _0.414878 0.965817

0.967571 1 0.976533 | _0.414878 1 0.631025
0.997407 0.976533 1 0.965817 0.631025 1
O0o00ooUooooooo 0.63
210 OO0O0O
ooo stand stand n
ogogg OO0 mean
OO dev
OoQg var
ooogd sd
OoOQgd cov
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ooooood vartable vartable n
oooo cortable cortable n
ooood pcor_table pcor_table cortable n
ooood am an® ami.1l0
oood gm gmi.10
oooo hm hmi.10
oooooooo | gtrgrow qtrgrow 1 1.02
ooo grow_ave 5 grow.ave 504827 539160
ogooooo
goooooog |lIsp Ispn

Isp_chain0

par.chain0

fis_.chainO
oo0 norm norm n
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OO0 A O0DO0ooonod

]l a=.1i. 54
® 1 2 3
4 5 6 7
8 910 11
12 13 14 15
16 17 18 19

e from(@O 013 _1{a

® 1 3 _1 {a NB. rank is default
® 1 2 3
4 5 6 7
12 13 14 15
16 17 18 19

efrom(I0O 0 2 _1 {"1 a
OoDO000O0 (l)ooooo

02 _1{"1a
® 2 3
4 6 7
8 10 11
12 14 15
16 18 19

o take (.)

2{."1 a
0 1
4 5
8 9
12 13
16 17
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OO0 B EXCELOOOUODOOO -0D0000000000O0

EXCELO Libre CALCOOOOOD biff-8 000 0 0O 0 EXCEL20030 O O EXCEL20070
biff-120000bif0 XML OODOO)

EXCEL20030 000000 (2007 OK,20107?)

tarad Libre-Office0 000000000 0OO(@OOO)

B.1 OO

tara NetOOOOOOOOOO JO RuryPackage Managet O 0O 0O 0O
tablegexcel,tabledara0 OO 0 OOCOOOO DLOO
gooooooooao
e NetODODODODOOODOO JO COROMOOODO,NetOODODODOODOODODOOO
goboogooood
e J602000000O00ODODDOODOOO copyOO

B.2 EXCELOUOODOOODOODO

e JIJDJODODODOOD(MOUODOODOD
e J0OOODOODOOOOD-99999000000O0OO0O0O0OOO0OOODBODO

B.3 tara

000 require ’files’

B3.1 0OO0OO
tara.ijs O tara.ijs0 0000 j602/addons/tables/tara/tara.ijsO0 0000
tutorial 0 OO0O0000O (tara.ijt)y00d0d
addongablegtargtara.ijt
000000000 .000ooooooooood
dir =. ’/data/sna/esri/principal/2010/’ 00O OO0
a=.readexcel dir,’shouhi_test.xls’
000 ODtaral000O0O0O0OOOO
Open BOXOOO
;") 9. 24 {"1 a
Sheet 00O OOOOOO
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’Sheetl’ readexcel dir,’test_calc.xls’
+o—t——+-—+-+
1112 13 | |
e s et et
12 13 14 | |
s St S
14 12 6 | |
e e
45165134 |

et St S

B.3.2 OOOO
*x12

000000000 OO0 EXCELOOOOOOOO
bi=. ’’ conew ’biffbook’
Ooooooo goooood

writenumber__bi 0 ® ;i. 10 10

writenumber__bi 0 ® ;al NB. (example) al=. ? 10 10 § 100

save__bi ’/temp/testtara.xls’

0000000000 underbard 20000
go0ooog)bodono ooooooo

al=. 1.4 5

al writexlsheets ’/temp/tararest.xls’

*12taraDDEID[|DD[Ijmacros.xIsEIDElDDElD Je020 000 0000000000000 0O0ODoO0OoOODDO
csvOoooaonono
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B4 CSvUOOOO

B41 CsSsvOODODOOODODOO
CSV Comma Separated Values
EXCELOODODOODOOO
e JIDO0ODODO(@MUUOODOODO
e UIDODOOOOOODOOO-999900 0000 0O0OOO0ODOODOOOOOO
e cOopyUUUUUUUOOOODOUOOoODbDbbObObObDODOOO
o OO DOOODOOO
save EXCELO csvO OGO QOO
goooooood

m Example 00000000 CSvODOO
0000000000 19940 000000000000 o0oooooo
http://www5.cao.go.jp/keizai3/getsurei.html
O0000U00Oouooooo indexdOooooOoO
shouhitest.csv] savel 0

B4.2 CcsvOOooooonO

JOOOO O require files csv’

0000 dir=:’c:/data/sna/esri/principal/2010/’
] a=. readcsv dir, ’shouhi_test.csv’

000 1 a=. ".@ readcsv dir,’shouhi_test.csv’

ooooooo

] a=. ;("1) ".(L:0) a
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Miscellance

J602 is download available (No charge)
http://www.jsoftware.com

Scripts are accessible
http://japla.sakura.ne. jp
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